

MR. ANTHONY GARCIA
NAITHON COVE, PHUKET MANSION BRGY., INCHICAN SILANG CAVITE TEL#: 0917-3261791

Dear Ma'am/Sir,

Kolin Marketing Inc., is extremely honored for your endorsement of Kolin brand and we are please to offer you with a special price/s for the following items.

A. EQUIPMENT & INSTALLATION - OPTION 1

* OPTION 1 REGILLAR INVERTER *

QTY	U/M	MODEL / DESCRIPTION	SRP	DISCOUNTED		AMOUNT
4	UNIT/S	MODEL: KSG-IWF-30WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 29,500 Kj/h (3.0HP) FULL DC INVERTER W/ WIFI R-32	76,595.00	51,212.20	PHP	204,848.8
1	UNIT/S	MODEL: KSM-IW25-WCT10M1M32 KOLIN WALL MOUNTED CERTUS AIRCONDITIONER 23,210 Kj/h (2.5HP) REGULAR INVERTER W/ WIFI R-32	49,995.00	33,996.20	PHP	33,996.20
1	UNIT/S	MODEL: KSM-IW20-WCT10M1M32 KOLIN WALL MOUNTED CERTUS SERIES AIRCONDITIONER 18,990 KJ/h (2.0HP) REGULAR INVERTER R-32	41,995.00	27,916.20	РНР	27,916.20
3	UNIT/S	MODEL: KSM-IW15-WCT10M1M32 KOLIN WALL MOUNTED CERTUS SERIES AIRCONDITIONER 12,660 Kj/h (1.5HP) REGULAR INVERTER R-32	32,995.00	21,076.20	РНР	63,228.6
TOTAL UNIT COST					PHP	1 329,989.80
ESTIMATED COST OF INSTALLATION (please see attached)				PHP	/ 245,000.00	
OTHERS: DELIVERY CHARGE				PHP	600.00	
TOTAL ESTIMATED COST OF THE PROJECT				PHP	, 575,589.80	

* OPTION 2 FULL DC INVERTER *

QTY	U/M	MODEL / DESCRIPTION	SRP	DISCOUNTED		AMOUNT
4	UNIT/S	MODEL: KSG-IWF-30WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 29,500 Kj/h (3.0HP) FULL DC INVERTER W/ WIFI R-32	76,595.00	51,212.20	РНР	204,848.80
1	UNIT/S	MODEL: KSG-IWF-25WFY-8K1M32 KOUN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 25,560 Kj/h (2.5HP) FULL DC INVERTER W/ WIFI R-32	68,995.00	45,436.20	РНР	45,436.20
1	UNIT/S	MODEL: KSG-IWF-20WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 19,000 Kj/h (2.0HP) FULL DC INVERTER W/ WIFI R-32	59,595.00	38,292.20	РНР	38,292.20
3	UNIT/S	MODEL: KSG-IWF-15WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 12,960 Kj/h (1.5HP) FULL DC INVERTER W/ WIFI R-32	46,595.00	28,412.20	РНР	85,236.60
TOTAL UNIT COST					PHP	373,813.80
ESTIMATED COST OF INSTALLATION (please see attached)				PHP	245,000.00	
OTHERS: DELIVERY CHARGE				PHP	600.00	
TOTAL ESTIMATED COST OF THE PROJECT				PHP	619,413.80	

TERMS OF PAYMENT:

FULL PAYMENT OF UNIT AND DELIVERY CHARGE. IF CHECK, SUBJECT FOR 3 DAYS CLEARING.

FOR SPLIT TYPE : ONE (1) YEAR FREE PARTS AND LABOR, THREE YEARS (3) MAIN PCB , TEN (10) YEARS WARRANTY ON COMPRESSOR.

NOTES: PRICES ARE SUBJECT TO CHANGE WITHOUT PRIOR NOTICE.

PRICES IS VAT INCLUSIVE.

** Cost of Installation is Package with the Unit(s), this cost cannot avail separately (cost will be based on actual works).
*** You may settle first payment for unit/s & delivery. Installation payment can be settled directly to installer after actual works.

We thank you for giving opportunity to offer our product and services, hoping we receive your purchase order.

If you need assistance, don't hesitate to call the under signed at 0917-807-8607 or email at kmi_asst@kolinphil.com.ph

Very Truly Yours,

JANELLEN S. KMI-ASSISTANT

MARINAT KMI-SUPERVISOR

KMI-QUOTE-07-25-0531-rev2 REG-24%/7K/4K

SIGNATURE OVER PRINTED NAME

Kolin Marketing, Inc.

1854 Sta. Rita St., Guadalupe Nuevo, Makati City

Tel.: (632) 8852-6473

Fax: (632) 8852-2170 / (632) 8852-4792 www.kolinphil.com.ph / kolinphilippines





Landline: (046) 424 3014

JULY 14, 2025

Attention: Mrs. Carol Garcia

We are pleased to submit our Quotation for Installation of Aircon unit

OPTION 1 INSTALLATION

0.00	000000	-	
1.	Grou	mal E	100"
1.	GIOU	nu r	1001

ACU	#1	2.5hp	Wall	Mounted
700	77 -	~ · J N	vvaii	IVIOUITEG

- Pipe length = 60 feet
- Royal cord length = 60 feet

Initial Charges:

P 8,500.00

Includes:

1ST 10 Feet Copper Tube

1ST 10 Feet Royal Cord

Outdoor Bracket

Excess feet copper tube P 400 per feet x 50 feet

P 20,000.00

Excess feet control wire P 100 per feet x 50 feet

5,000.00

MOLDING of copper tube 5pcs x 1,800/ pc

P 9,000.00

Circuit Breaker

P 1,000.00

ACU #2 3.0hp Wall Mounted

- Pipe length = 45 feet
- Royal cord length = 45 feet

Initial Charges:

P 8,500.00

Includes:

1ST 10 Feet Copper Tube

1ST 10 Feet Royal Cord

Outdoor Bracket

Excess feet copper tube P 400 per feet x 35 feet

P 14,000.00

Excess feet control wire P 100 per feet x 35feet

3,500.00

MOLDING of copper tube 3pcs x 1,800/ pc

P 5,400.00

Circuit Breaker

P 1,000.00

ACU #3 3.0hp Wall Mounted

- Pipe length = 20 feet
- Royal cord length = 20 feet

Initial Charges:

P 8,500.00

Includes:

1ST 10 Feet Copper Tube

1ST 10 Feet Royal Cord

Outdoor Bracket

Excess feet copper tube P 400 per feet x 10 feet

P 4,000.00

Excess feet control wire P 100 per feet x 10 feet

P 1,000.00

Circuit Breaker

P 1,000.00

ACU #4 3.0hp Wall Mounted		
Pipe length = 20 feet		
 Royal cord length = 20 feet 		
Initial Charges:	Р	8,500.00
Includes:		
1 ST 10 Feet Copper Tube		
1 ST 10 Feet Royal Cord		
Outdoor Bracket		
Excess feet copper tube P 400 per feet x 10 feet		4,000.0
Excess feet control wire P 100 per feet x 10 feeet		1,000.0
Circuit Breaker	P	1,000.0
2nd Floor		
Room ACU #5 1.5hp Wall Mounted		
Pipe length = 65 feet		
 Royal cord length = 65 feet 		
Initial Charges:	P	7,500.00
Includes:		
1 ST 10 Feet Copper Tube		
1 ST 10 Feet Royal Cord		
Outdoor Bracket		
 Excess feet copper tube P 350 per feet x 55 feet 	P	19,250.0
 Excess feet control wire P 100 per feet x 55feet 	P	5,500.0
 MOLDING of copper tube 1pcs x 1,800/ pc 	P	1,800.0
Circuit Breaker	P	1,000.0
Room ACU #6 1.5hp Wall Mounted		
Pipe length = 60 feet		
Royal cord length = 60 feet		
Initial Charges:	p	7,500.00
Includes:		7,500.00
1 ST 10 Feet Copper Tube		
1 ST 10 Feet Royal Cord		
Outdoor Bracket		
Excess feet copper tube P 350 per feet x 50 feet	D	17,500.0
Excess feet control wire P 100 per feet x 50 feet	P	
MOLDING of copper tube 1pcs x 1,800/ pc	P	
Circuit Breaker	P	
Silver Dicardi	,	1,000.0
TV Room ACU # 7 2.0hp Wall Mounted		
Pipe length = 30 feet		
Royal cord length = 30 feet		
Initial Charges:	р	7,500.00
Includes:		7,300.00
1 ST 10 Feet Copper Tube		
1 ST 10 Feet Royal Cord		
Outdoor Bracket		
Excess feet copper tube P 350 per feet x 20 feet		7 000 0
		7,000.0
Excess feet control wire P 100 per feet x 20 feet MOLDING of connect the 1 per x 1 800 / per		2,000.0
MOLDING of copper tube 1pcs x 1,800/ pc Circuit Procket		1,800.0
Circuit Breaker	Р	1,000.0

MASTER BED Room ACU # 8 3.0hp Wall Mounted					
Pipe length = 35 feet					
Royal cord length = 35 feet					
Initial Charges:	P	8,500.00			
Includes:					
1 ST 10 Feet Copper Tube					
1 ST 10 Feet Royal Cord					
Outdoor Bracket					
 Excess feet copper tube P 400 per feet x 25 feet 	Р	10,000.00			
 Excess feet control wire P 100 per feet x 25 feet 	Р	2,500.00			
 MOLDING of copper tube 1pcs x 1,800/ pc 	Р	1,800.00			
Circuit Breaker	Р	1,000.00			
WALKING CLOSSET ACU # 9 1.5hp Wall Mounted					
Pipe length = 65 feet					
 Royal cord length = 65 feet 					
Initial Charges:	P	7,500.00			
Includes:					
1 ST 10 Feet Copper Tube					
1 ST 10 Feet Royal Cord					
Outdoor Bracket					
 Excess feet copper tube P 350 per feet x 55 feet 	Р	19,250.00			
 Excess feet control wire P 100 per feet x 55 feet 	Р	5,500.00			
 MOLDING of copper tube 1pcs x 1,800/ pc 	P	1,800.00			
Circuit Breaker	P	1,000.00			
 1 lot chipping of all unit drain line and lay out of drain line pipe 	P	2,500.00			

TOTAL P 253,400.00
DISCOUNT P 8,400.00

TOTAL PRICE P 245,000.00

WILSON ARQUILLO PREPARED BY: